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Topic:- Physics

1) The displacement x of a particle moving along a straight line at time t is given by x=ag + a;t +
a,t2 The acceleration of the particle is-/T® It 3T & 70 7@ FUI HT AT t R AR X T TBR B x = ag
+ayt+a,t?| HUT BT @RI GHTI-

1. 432
2.a;
3. 2a1

4. 2a,

Correct Answer :-

. 232

1. Charle’s law/aTey &7 f4a9
2. Law of convervation of energy/\$5l & TReu H1 Ay
3. Law of convervation of mass/SoHT & TREUN oI fAaH

4. Boyle’s law/S10d &1 (499

Correct Answer :-

e Law of convervation of energy/G)'_\l‘ﬁ & TReU H1 Ay

3) Dispersive power of a prism depends on-/Th forsw Y fequffa ufar Ak St %—
1. Shape of prism/ﬁl@ P THR W)

2. None of these/g_"lﬁ ﬁ m qﬁ

3. Nature of material of prism/mm:[ Dt AU Dt W W

4. Angle of prism/ﬁﬁq & PR

Correct Answer :-

» Nature of material of prism/ﬁl?q St QU Dt W R

4) The Magnetic Resonance Imaging (MRI) is based on the phenomenon of-@ﬁﬂﬁﬂaﬂﬂﬁ
wfafea $ ge W 3muTid 3-

1. Electron spin resonance/3ddcH U 3fIAIG
2. Electron paramagnetic resonance/ WWW



3. Diamagnetism of human tissues/HI-d IdP! BT ulrﬁgj,#dchcd
4. Nuclear magnetic resonance/ Y& b 1Y 3G

Correct Answer :-

« Nuclear magnetic resonance/AHII TEHIT TG

5) Modern communication systems use-/3Tf® TR 7 SUTNT HdT 3-

1. Combination of analog and digital circuit/afRiferd =0 ¥ T 3R f$fed affe
2. Digital circuit/feforea afdbe

3. Analog circuit/mﬂﬂ%

4. None of these/37H 9 PIs gl

Correct Answer :-

. Digital circuit/f$fca gfdbe

6) Ratio of ionization power of @ and B particles emitted from a radioactive element is-/T®

YeafFea vefiave & Icafdia o ok B wul F ama=iieor ufaR 1 JguTd 3-
1.1000: 1

2.100: 1

3.1:100

4.1:1000

Correct Answer :-
« 100:1

7) The average power dissipated in a purely inductive coil is-ﬁwwﬁammwwaﬂaﬁﬂa
I T 3-

1
_LE:"

L
2.8

3. Zero/R[
4. Li?

Correct Answer :-

8) Two charges each of #/¢ are separated by 0.5 m. Their mutual potential energy will be- A 3ucE

TR TP GoR H 0.5 R gl W § 1 3901 IRWRe fRufosr St gt
1.1.44 1/1.44 5
2.1.081/1.08 d
3.0.721/0.72 9
4.0.293/0.29 Jd



Correct Answer :-

+ 0.291/0.29 9d

9) Two sound waves have phase difference of 60°, then they will have the path difference of-/3l

@i a1 o1 FATR 60° 8, IT& d1 YR BRI

oo W

10) In atriode valve, the current in the plate circuit is controlled by-wgﬂﬁ?mﬁﬁ, wWie Jfdbe A
4T fifa gt 8-

1. Ammeter/THIC gRI
2. Grid/fIg gR1

3. Cathode/®YIS &

4. Anode/TIS ¥

Correct Answer :-

. Grid/PSgrRI

11) In Young's double slit experiment, a minimum of intensity is obtained when the phase
difference of superimposing waves is-AT & Sad f&e T #, TP gAad dtaar Ui gl 8, 5id W
SHOIRIAT ¥ T PR gl

1. Cn—1)m
5 (n+ 1)m

3. nm

4. Zero/R[™

Correct Answer :-

. (2n—1)m

12) Potentiometer is better than voltmeter in measuring emf of a cell because-/f&t &9 & fagaa

I8P I (emf) FI AT & R Fieetiier F1 g & veRrakfier (@vaard) Jga 3, Fife-

1. Resistance of potentiometer wire is high/ GefREM R ([@yarTd) & dR F1 = ufaRiY BT 8

2. Dial of voltmeter is smaller than potentiometer/dieeHiex &1 ST e R e (AyaaTd) ¥ A Ear g

3. Potentiometer does not draw any current from external source/ﬁlﬁﬂﬁam@ﬁﬁwlﬁwqﬁaﬁ%



4. The resistivity of potentiometer is more/faHaurd & Tag-T=fiear i g 8

Correct Answer :-

. Potentiometer does not draw any current from external source/fHaATdt aT8T Wid ¥ fiepd o uRT T AT ©
13) The best material for the core of a transformer isWﬁﬁ?%ﬁEWWWﬁ%-

1. Mild steel/(HIgcS) RH TId

2. Stainless steel/@qaﬁs?cﬂﬁ

3. Hard steel/®dR S8

4. Soft iron/WﬁlBT

Correct Answer :-

. Soft iron/geh] dIgT

14) What is the dimensional formula of gravitational constant?/mmwﬁfﬂﬂﬂm
o1 fafta g 82

1.[M 3T
2. [ML2T 2]
3. [MLIT 1

4. None of these/éﬂ'ﬁ“@fﬁ'ﬁt:@

Correct Answer :-

15) If maximum height and range of a projectile are same. What is the angle of projection?/ﬂﬁ

TP NSaeTsd &1 ISdH S8 3R 3o SRIR 81, Y WISia= &1 H1vT g1TI-
1.30°

2.50°

3.90°

4.76°

Correct Answer :-

. 76°

16) A gun fires a bullet of mass 50 g with a velocity of 30 m/s. Due to this, the gas is pushed back
with a velocity of 1 m/s, then the mass of gun is-/T® g® 50 UTH SSTHTH Bt et B 30 T/ & 37 A ARG
2, et 9o 9 19 1 H/A F a1 3 fiD gedt 8, 99 g &1 SoauT= gh-

1. 5.5 kg/5.5 foour
2.1.5kg/1.5 &
3.0.5 kg/0.5 fam
4. 3.5 kg/3.5 T



Correct Answer :-

« 1.5kg/1.5 foun

17) A spinning neutron star is known as a-/qm%'vﬂﬁ?;gﬁam (ENR) WFH?IT%-
1. Quasar/ddR

2. Meteor/HIE3IR

3. Pulsar/Udia}

4. Black hole/sid® §1d

Correct Answer :-
o Pulsar/UdR

18) A person swimming in a fresh water pool is obeying-T® &fad &r&n'\ﬂ'qq'F-ﬂ%Wﬁa'\fﬁT%, dg
T HRATI-

1. Newton’s III law/~Jc & qaiid -aH &1
2. Newton’s II law/~Je & fgdia fad &1
3. Newton’s first Iaw/’q@:r%%ﬁﬁflﬁﬁ
4. Gravitational Iaw/wﬁfwﬁﬂﬂaﬂ

Correct Answer :-

« Newton’s I1I law/~Jc & Jaidl FaH &1

19) According to Curie’s law, the magnetic susceptibility of a substance at an absolute
temperature T is proportional to-/@ & FaTAR, fHdt verd ot grasia dae-=iear fFRug aa= T w®
_ Fguruidt g el

1
T
1
T

(¥

1.
2.T
3. T2
4T

Correct Answer :-

20) For making the frequency double of an oscillator, the mass has to be-/U® aiferT Bt enqﬁraﬁfﬁ
P & ford o= gRT-

1. Halved/3fTeT 81 ST

2. Quadrupled/TR THT g STRRT

3. Doubled /& AT 81 SR

4. Reduced to one fourth/Ta TIUTS HH g ST

Correct Answer :-



« Reduced to one fourth/Te AYUTS HH gl ST

21) L
The Young’s modulus of a wire of length (L) and radius (r) is y. If the length is reduced to 2 and

r
radius 2, then its Young’s modulus will be- / T&% dR fSra&t @ars (L) 3R Bar () 8, d1andigag y 31 9f
L r

T 2 Firean 2 3 &1 WM, 99 T Ager g
y

1.2

2.2y

3.y

4. 4y

Correct Answer :-

22) The escape velocity of sphere of mass m will be: (G = universal gravitation constant, Mo =
mass of earth, R = radius of the earth)-/ m ST & M BT TATIA & FHT: (G = GRS [FATHYT
RRI®, M, = gt &1 5aq8H, R, = Tt 3t Brwm)-

||EGME+ R.

R
1N =

GM
2. R,

||2C}Mem
R
3N e

23) The most penetrating radiation out of the following is-/Arfefad # ¥ Haiftre deor faferzor 8-
1. Brays / B fa=or

2. %rays / a fopvoy

3.Yrays / Y foor

4. X-rays/ X- fpvor

Correct Answer :-

. 1r‘rays/‘r‘W@f



The component of vector 2 = 2i + 3] along the vector i + | is-/ |fg=r 4 = 2i + 3) 7 yew, Afgw | + | $ Gz
|

25) Work done by a simple pendulum in one complete oscillation is-@W?ﬁWWWWW
P forar war et ghm-
1t

2
1. A8

2. v-’m_g

V in —
3, SlIl2

4, Zero/R[™

Correct Answer :-

Topic:- Chemistry

1) Aluminium has a diagonal relationship with -/ TEIRTY & A4 T fawof day 8-
1. Boron /@ITFT

2. Silicon / fafereia

3. Beryllium / SRfemm

4. Carbon / ®T&A

Correct Answer :-

« Beryllium / sRferaw

2) How many carbon atoms are there in n- butane?/n-ﬂ%ﬂﬁﬁﬁ'ﬁ?ﬁqmﬁ?
1.4

2.3

3.2

4.6

Correct Answer :-



3) An ingredient of baking powder is -/ WWWWW%
1. Borax / IR

2. Sodium carbonate / TfSTH HEMHC

3. Sodium chloride / f&aH FARSS

4. Sodium bicarbonate / TIf$TH FEHEMT

Correct Answer :-

. Sodium bicarbonate / TfSTH SZHEHT

4) The most dangerous method of preparing hydrogen would be by the action of HCI on:/

TSI 991 & T qad @ fafy, R ETSSIoH FARISS B ATUfHaT gRI ST 2|
1. Zinc / Skl
2.Iron / FﬁET

3. Aluminium / TegHIATH
4. Potassium / OiciRry

Correct Answer :-

. Potassium / QleflRH

5) Which is the first organic compound synthesized in the laboratory? / TARTRITEAT # SRS ugan
Praf® e B A1 8?2

1. Cane sugar / a1 91

2. Lactic acid / dfdes tfys
3. Uric acid /WQ‘@I‘S’

4. Urea /{F\WIT

Correct Answer :-

« Urea / giar

6) Alkyl halides on treatment with aqueous KOH give / SIeiid Ul RIaY gI5giqIss & A1y fhaT sA R
uferd FaTSS 3T 8-

1. Alkenes / Teb 1A

2. Ethers / 'sc%l?

3. Acids / 3&T

4. Alcohols / 3ehIgd

Correct Answer :-

« Alcohols / 3chIgd



1. Silicon / faferia
2. Germanium / SHEH

3. Lead /ﬁ's’
4. Carbon /W

Correct Answer :-

. Carbon / ®Te+

8) wWhen 5.0 g of BaCl, is dissolved in a total mass of 106 g solution, its strength will be / Sid

10° 9T & 5 & fa@a # BaCl, &7 5.0 99 39 81 91d 8, <t 39! amar gifi-

1. 50 ppm
2.1000 ppm
3.1 ppm

4.5 ppm

Correct Answer :-

9) In which of the following cases does the reaction go almost to completion?/ fafafaad

fra arra § sifuferar it 19 & g ot 32
1. K¢ = 102

2. K¢ = 103

3.K¢ =103

4.K¢ = 1072

Correct Answer :-

. K¢ =103

10) A diazonium salt is formed when nitrous acid reacts with-/wmm’rﬁwwm%, oid
BIET RN T fufpar HraT 81

1. (CH3),>NH

2. CgHgNH»

3. (CgHsg)oNH

4. (CgHs)3N
Correct Answer :-

« CgHsNH,

11) Oxidation state of the oxygen atom in potassium superoxide is-/ﬁ%ﬁl’qﬁw&mﬁgﬁ
SHTRIST UHTY] F} ATRABOT SrTwAT B-

1. =%



Correct Answer :-

o =12

12) Which of the following is not a Lewis base? / fFafifaa d @ sl W g s "8 82
1.1*

2. H,0

3.0%7

4. NH5

Correct Answer :-

13) Which of the following alcohols is most reactive with Lucas reagent? / fafafada s ar
IPIed G AfHPHS & Ty gaq fufrareiia 82

1. Tert-Butyl alcohol /E‘&fﬂfr—w&lﬁﬁ%ﬁ
2. Ethyl alcohol / TR 3fe@digd

3. Isopropy! alcohol / 3TEEMIUT 3fchigd

4. Methyl alcohol / ﬁfﬂa&?ﬁaa

Correct Answer :-

. Tert-Butyl alcohol / ¢RIG-SGLTR Sfchige

14) Which of the following is hyponitrous acid? / mﬁﬁﬁqum%?
1. H,N,05

2. HNO,

3. HNO,

4. HNO3

Correct Answer :-

+ HaN30;

15) Which of the following is a trihydric alcohol? / ﬁ?ﬁﬁﬁﬁwmﬁ'@ﬁ 3eHIgd 2?
1. Ethylene glycol / Eﬁl?ﬁqm

2. Glycerol / foRRTd

3. Trimethylene glycol / TRARIHH ARG

4. Propylene glycol / PIENIERNIEEA



Correct Answer :-

« Glycerol / feRi@

16) Which of the following is radioactive? / frafafea & @ o ar e g2
1. Deuterium / SCIRTH

2. Tritium / ¢rfead

3. Helium / giferaw

4. Hydrogen / BIgsio

Correct Answer :-

« Tritium / Trgfeag

17) Epsom salt is a hydrated of / WWWF@%@%
1. Ferrous ammonium sulphate / TRy I getbe

2. Calcium sulphate / Fiexrgy Ithe

3. Magnesium ammonium phosphate/ SHIfRRH MfATH Bidhe
4. Magnesium sulphate / A¥fRrY Tehe

Correct Answer :-

. Magnesium sulphate / F3fREH gethe

18) Six protons are found in the nucleus of: /Wﬂf%ﬁwﬁ?ﬁmﬂﬁ??
1. Boron / IRM

2. Lithium / difgas

3. Helium /E”Fﬁ“l’qﬂ

4. Carbon /Eb"l'cf?

Correct Answer :-

. Carbon / ®Te

19) If two moles of an ideal gas at 546 K occupy a volume of 44.8 litres, the pressure must be

/ i 546 K TR TS 31 I & g Hid BT 319 44.8 Aex §, 9 g1d g1 91iee-
1. 4 atmospheres/ 4 AGHSA
2. 3 atmospheres /3 IJHSA
3.1 atmospheres / 1 dgHSA
4.2 atmospheres / 2 dlgHSA

Correct Answer :-

« 2 atmospheres / 2 agHSA

20) Ozone is related to oxygen as its-/ 3%, 3o & 5 avg Tl 8-



1. Isotope / RIS
2. Allotrope / REY
3. Isomer / HHIIIT

4. Isobar / JHYRY

Correct Answer :-

» Allotrope / 3URY

21) Sublimation is a process where a solid-/ 3tdUTa- U UfhaT § S8 TP 319 gar gl
1. Is slowly annealed / ﬂﬁﬁw%

2. First melts and then boils / Tgd e 3R fR IeaA

3. Changes into liquid state / &d 3= § gRkad

4. Changes into vapour state / TS a1 7 uRad=

Correct Answer :-

» Changes into vapour state / TS AT H URacH

22) A gas deviates most from ideal behaviour when it is subjected to: / Wﬁﬂmwﬁm
it farafera g 8, 5ia st I glaT 8:

1. Low temperature, high pressure / ®H dIUH, 3= qld
2. Low temperature, low pressure / ®H dIUHM, HH qld
3. High temperature, high pressure / 3= dlUHH, 3 ald

4. High temperature, low pressure / 3= dUHM, ®H ald

Correct Answer :-

« Low temperature, high pressure / ®H dUHM, 3 ald

23) Geometrical isomers: / SAIHHTT GHTGYUS:

1. Rotate the plane of polarized light / §didhd THT=T & dd B go

2. Contain an asymmetric carbon atom / T SIH{A HTe URHTY] AT §
3. Contain a triple bond / T& A&y 2fad 8-

4. Contain carbon-carbon double bond / ®Ta-®Te fgae AT &

Correct Answer :-

. Contain carbon-carbon double bond / HTe-bTe fgse AT &

24) Liquid ammonia is used in refrigerators because: / Ifpeiver # aRA AT &1 Iua faar sirar 8
ifp:

1. It has high heat of evaporation/ U8 3= aTIehRUI 38T I&d &

2. It has a high dipole moment / I8 3= fg3a ol a8

3. Of its basicity / 39! &RIGdT BT



4. Of its stability / SH®! RRT BT

Correct Answer :-

. It has high heat of evaporation/ U8 3= aTIehRUI S8AT I&d &

25) 1n the NaCl crystal, Na® is surrounded by how many ions of CI~? / NaCl fe@ #®, Na*, CI- &
o oAl @ fRRT g 82

1.4

2.8

3.6

4.12

Correct Answer :-
« 6

Topic:- Botany

1) Syngenesious anthers and epipetalous stamens are found in the family /H’s’ﬁv‘fﬁﬁﬂ%ﬁmﬁ
YFaD It RITHIY Td Gerer YR IraT ordT 8

1. Liliaceae/ feiferadt ot

2. Malvaceae/qlﬂﬁﬁ

3. Compositae /&UIfIc! Hd
4., Solanaceae/@@lel?ﬁﬁ

Correct Answer :-
« Compositae /&HUINTE A

2) Transfer of pollen grains from the anther to the stigma of a flower is known as-/ﬁiﬁ'ﬁ'

RIS | 1 91 AHET F WRIHUI & RITAAROT HY BT Al &
1. Pollination/ GRITUT

2. Fertilization/f 8=

3. Diffusion/fd&Rur

4. Adoption/ 3%
Correct Answer :-
« Pollination/ GRITOI

3) Which type of plants are not differentiated into roots, stem and leaves -/mw%tﬁﬁ\_ﬁ,’,
1 T4 ufkr § fyuriora 78t g &

1. Spermatophytes /‘gﬂiﬁﬁﬂ-l'c{

2. Gymnosperms /3{Adaatol

3. Pteridophytes/ %ﬂ?ﬁm

4. Thallophytes/ddIwIZcY



Correct Answer :-

. Thallophytes/d@hEey

4) In cyclic phosphorylation the high energy electrons are driven out from-/J®1d GRGRAAE A
I Sl gATei fPad gRI AR WG gla 8

1. P 700 /4t 700
2. P 870/l 870
3. Chlorophyll a673 / TR T 673
4. Chlorophyll a683 /FIRIhd T 683

Correct Answer :-

« P 700 /9 700

5) Other than the egg an embryo may sometimes develop from a cell of an embryo sac is: /@

Ht 303 & rfarfva yor yordeh Y HifkrepT A fyRra 1 Beamr 2:
1. Apospory/G{q'cﬂ\_xleIL'cﬂ

2. Parthenocarpy/&rﬁﬁw

3. Parthenogenesis/ 38w

4. Apogamy/ ST

Correct Answer :-

- Apogamy/3fqgiH

6) The dominant second tropic level, in a lake ecosystem, is:/U® siia TRfRATa®! a3 & W@ goRT
Tif¥dar W gar 8:

1. Plankton/ Widsh

2. Benthos/dd shiagyg

3. Phytoplankton/UlqUids
4. Zooplankton/SI<J&ide

Correct Answer :-

« Zooplankton/Sl<J&ided

7) Embryosac is present inside the-/Yur aeft urft wireht 3:
1. Stigma/3y #

2. Style/afdeT &

3. Micropyle/ SioUSgR #

4. Ovule/ Eﬂﬁﬂqﬁ

Correct Answer :-

« Ovule/ oMo &



8) Sequence of nucleotides in a DNA strand is CAT TAG CAT CAT GAC, what will be the base
sequence in complementary strand of RNA?/3[R T4 T ¥ US # CAT TAG CAT CAT GAC JfFaiess
F I 8, 99 3R T T D! RSP TUS BT YR IehH (3 HIgdw) 1 ghT-

1. GTA ATG GTA GAT CTA
2. GUA AUC GUA GUA CUG
3. TAG ATG ATG GUA CUG
4. GTA ATC GAT GTA CTA
Correct Answer :-

« GUA AUC GUA GUA CUG
9) Mycoplasma is also known as:/HTI®HITTSHT $ 98 I H8T wITdT 8-
1. Bacteria/Saeifan

2. Cytolysis/Imacifag

3. Flagella/9aifSTar

4. Archaea/éiTﬁ?ClT

Correct Answer :-

. Bacteria/S&If@r

10) Deficiency of which minerals cause chlorosis in plants:/lﬂiﬁﬁﬁ'—lﬁﬁﬁﬁwtﬁaﬂwﬁ
Fma@ﬁﬁ%

1. Nitrogen/AT3gIorH
2. Iron /FﬁET

3. Calcium/feRrad

4. Potassium/TiciREad

Correct Answer :-

o Iron /FﬁET

11) After fertilization ovules develop into -/fa & g1 IWTY] FT fawT ghar 8-
1. Seed /&9 & 3R

2. Fruit/d & 3R

3. Pedicel/Sgq/ Ufsal #

4. Thalamus /3009 & 3FeR

Correct Answer :-

« Seed /a6l & 3R

12) Which of the following give rise to the cork tissue? /Eﬁﬁﬂﬁ?ﬂﬁ%%mﬁiﬁﬁmﬁ?
1. Phellogen/ﬁv_c'ﬁ\_ﬂ

2. Peripheral/aRthRd



3. Phelloderm/ thaigd
4. Periblem/ IRsAH

Correct Answer :-

« Phellogen/%areH

13) Which of the following organelle is called as the “suicidal bags of the cell”? /98 SIR®HI o
HIRTDT & Srerard 7 (Aeft) PeT ofrar 8-

1. Lysosomes and Golgi/TgaIig Td el

2. Lysosomes and mitochondria/ﬂﬁ?ﬁﬁﬁﬂ?@ﬂﬁﬂﬁ%m

3. Lysosomes/?ﬂ%?ﬁﬁﬁ'ﬁr

4. Lysosomes and Endoplasmic Reticulum/ﬂﬁ@@ﬁ@@ﬁﬂmﬁw

Correct Answer :-

« Lysosomes/dZHSIA

14) Which of the following areas in India is a hotspot of biodiversity?/WWTﬁ'ﬁﬂﬂTQﬁ%G’r
Safafear ¥ R giewie 8-

1. Sunderbans/Jaxs
2. Eastern Ghats /tljﬁ‘aﬁ

3. Western Ghats/ Gf3H 91e
4. Gangetic Plains /T & HeMt 3aTh

Correct Answer :-
« Western Ghats/ Uf3¥ gre

15) The development of ovary into a fruit without fertilization is called:/%al # faq1 fAs=a &
ISR & fAPRT B HET AT 7!

1. Parthenocarpy / B H

2. Asexual reproduction/ 3 o
3. Sexual reproduction/mtlﬁl:ﬂ

4. Apomixis/TOTHTRT/ SRS

Correct Answer :-

« Parthenocarpy / 3S&HA

16) Spliting of water molecules to release oxygen and add hydrogen to carbon atoms in

chloroplast for the formation of-/f%a® A=A & R gRaaas o o & Sujeli A TR & goa s &
ford eTESIoM B Hra-T | SIST ST 8-

1. Sugar /R Co
2. Water/Sld

3. Starch/E‘l?f
4. Glucose/™qJd IS



Correct Answer :-

e Sugar /R Co

17) Mycorrhiza represents-/HATd®IRTSSIT Ufaf=ftd HdT 8-

1. Symbiotic association between a fungus and roots of higher pIants/ﬁW%W%ﬂTﬂ R ESIIER
2. Symbiotic association between a fungus and liverworts/@a% T4 faaRarcy & dia qgeiiadm

3. Parasitic association between a fungus and roots of plants/&dd d Uit & STs| & A TRehifadr

4. Parasitic association between a fungus and an algai/ ®dd Td RaTd (TATH P oa TR

Correct Answer :-

. Symbiotic association between a fungus and roots of higher plants/3=d UGl & Hdd o T1Y geiadl

18) A system of classification based on all important morphologically characters is:/ Tffepeor B

g8 yorrell, st gt agayut s a1 FuTIs daon R Sutie 3-
1. None of these/ 378 ¥ ®Is a1

2. Artificial system/ | oumTelt

3. Natural system/ WTdfdas Jomai!

4. Genetic system/ 3M-difRId YUITelt

Correct Answer :-

« Natural system/ Uidfdd Yot

19) Out of 36 ATP molecules produced per glucose molecule during respiration/mqa?aﬁ?ﬂ

T & 36 ST TP (U] F IUTGH PT EIHI-
1. 2 are produced during digestion and 34 during respiratory chain/ 2 99 & R Ud 34 X9 4Tl &b SR

2. 2 are produced outside mitochondria and 34 inside the mitochondria/ 2 Wﬁ@m%w@ 34

HIECIIUGAT & ST
3. 3 during glycolysis and 32 during Krebs cycle/3 TAISHITSRIY Ud 32 Heq Th P GRIA
4. All produce inside mitochondria /Hﬁﬂ'@ﬁ%ﬂ%ﬂfﬁﬁ%
Correct Answer :-

« 2 are produced outside mitochondria and 34 inside the mitochondria/ 2 ATSCIHI0SAT & dTex Td 34

AISCIHIISTT & e

20) Coralloid roots are found in-/®RIA5S &S U STe 8-
1. Cycas/93&d H

2. Pinus/tng:R:[ff

3. Lycopodium/dgdaifesad &

4. Dryopteris/@?@ﬁﬂﬁ

Correct Answer :-

. Cycas/?ﬂ'siwff



21) Amino acids are mostly synthesised from-/ 3 fiAY 3T SUTETaR SR gid 8-
1. Fatty acids/d9Ydd 3R gRT

2. Alkali/&R gRT

3. A-ketoglutaric acid/3e®l HIcide e I GRI

4. Mineral salts/“@ﬁ\_rrWW

Correct Answer :-
« A-ketoglutaric acid/3{ehT HICRICRD T GRT

22) Formation of organic nitrogen compounds from inorganic nitrogen compounds present in

the environment is: /aTaTaRol § Higg SBTHAE A5 o GRS A BTEAS A5 o AP & HHior & Hgd
f

1. Nitrification/™TS¢IhRU
2. Denitrification/3IS¢IbRUl

3. Nitrogen assimilation /9 é'cj ST THITT
4. Ammonification/&ﬂiﬁ'—ﬂWUT

Correct Answer :-
« Nitrogen assimilation /= 36; SERSIENIG)
23) The protists are those having-/UfeT 98 & H U w14 8-

1. Nucleoprotein in direct contact with the rest of the cell substance/GAAIICH (F=dbid UicH) B Y
PIRH uerf & e Judh

2. Membrane bound nucleoproteins lying embedded in the cytoplasm/®IRT®T &0 & 49 g2 Rieeigad
REREICE

3. Gene containing nucleoproteins condensed together in loose mass/x‘rﬁ’fﬂaﬁwm
4. Only free nucleic acid aggregates/mﬁaﬂw ST 9=

Correct Answer :-

« Membrane bound nucleoproteins lying embedded in the cytoplasm/ﬂﬁﬁ]ﬁﬁ?ﬂﬁ ﬁﬁgﬁ%«?ﬁ%

24) Before fertilization ovary has-/ fA¥9F & Ugd sz & urdl &t @ -
1. Two nuclei/al &g

2. More than 4 nuclei/aR ¥ 3fi® dsh

3. One nuclei/T® H5dH

4.3 nuclei/x‘-ﬂ‘fw

Correct Answer :-

« Two nuclei/ﬁm

25) Hydroponics is: /5@ 4944 8:



1. Growing of plants inside water /STA & 3R Urelf Y ST
2. Growing cash crops/ﬂﬁmﬁ@ﬂ:ﬂ

3. Growing of flowering plants /g5 Urel &1 ST

4. Soilless cultivation of plants /&f@fﬁ%?@ﬂ@?ﬂ

Correct Answer :-

. Soilless cultivation of plants /qei &1 JaT Ifed Wt

Topic:- Zoology

1) How many bones are their in skull?/@Ug! # fa- gfyay urht ot 82
1. 09
2. 20
3.22

4.21

Correct Answer :-

2) Recording the electrical activity of the heart over a period of time using electrodes placed

on the skin is-/@d IR 3AR$ (Rguddr) HT STANTT H &9 DI [AYd i B AFARET H a1et IUHT
DI PEAC -

1. CTA/E & T

2. EEG/S 3ol

3. MRI/TH 3R 315
4. ECG/3 H Sit

Correct Answer :-

. ECG/E it

3) The most abundant cells in vertebrate blood-/$R%®! Iad & Tad WX AT H Urf 9 arelt FHifkremd
T -

1. RBC /dTd Yo HiorepTd
2. WBC / Xdd ¥ad BT
3. Platelets /@Eﬁ'c’ﬁ

4. Neutrophils /?’i@fﬁv_c\‘:[
Correct Answer :-

« RBC /dTd Y& Horepmg

4) Which type of cartilage is found in nose?/ﬂﬁiﬁﬁ'mwaﬁmqﬂﬂﬂﬁﬁ?
1. Hyaline cartilage/g8rafam IUTRY



2. Fibrous cartilage/i*i IR IUTRY

3. None of these/39H q ®Is 8l
4. Elastic cartilage /@R IRy

Correct Answer :-

« Hyaline cartilage/mﬁ'lefm

5) In blood CO, is found in the form of- /3% & CO, %W ¥u & urdt w1t & -

1. Bicarbonate /HI?@‘IEﬁ'c’

2. Glycerol /TR

3. Haemoglobin /RN

4. Potassium carbonate /UICTRIGH FHEHC

Correct Answer :-

. Bicarbonate /ARHEMT

6) Dialysis work on the principle of -/”3(Ug" figid )R &1 Ha1 8-
1. Osmosis /W%

2. Adsorption EIRRINILED

3. Diffusion /J8R &

4. Absorption /3Ta=NYT &

Correct Answer :-

- Diffusion /Y8R &

7) In myofibril actin protein is also called-/mﬁmﬁﬁmtﬁ?ﬁ?aﬁwmﬁ-
1. Anisotropic band /&R@Eﬁaﬂg

2. Isotropy band /3fFEiciu®

3. Myosin /ARE

4. Fibrin /WTgfs

Correct Answer :-

« Myosin /AR

8) Which one of them is the thinking part of the brain? /398 4 19 Af%rs # faarR yR® w82
1. Occipital lobe/U=dHUId TIfcl

2. Mid brain/q% Af&sh

3. Fore brain/&rﬂﬂfﬁﬁ

4. Hind brain/qdad! Afksh

Correct Answer :-



« Fore brain/&'ﬂﬁf’@iﬁ

9) Which one of them is the largest part of the brain?/gﬂﬁﬁﬁqwmﬁmmﬁwﬁ?
1. Cerebrum /3T (IREH)

2. Hypothalamus EHEEIREEE

3. None of these/3TH ¥ ®Ig -Tg!

4, Thalamus /30

Correct Answer :-

« Cerebrum /3P (IRTH)

10) Loss or gain of one or more chromosomes at the time of gamete formation-/WW%

THY T I1 T A AT TUREET A g1 T1 T 81T peardl o-
1. Klinefelter’s Syndrome /mﬁ@ﬂ

2. Polyploidy /areerat

3. None of them /3-8 A BIs !

4. Aneuploidy /&H?Il?ﬁ?ﬁ

Correct Answer :-

« Aneuploidy /e«n{r@@

11) Which law states that allele and genotype frequencies in a population will remain constant
from generation to generation in the absence of other evolutionary influences?/ﬁﬁmﬁ'ﬂﬂ

Pgdl & JNel § Teltd Ud silersy smgfar s faeraard! uural #f srgufufa & fid & fidt 9o fRR w@m-
1. Hardy-Weinberg principle / gef aa Rigid

2. Charles Darwin's theory of natural selection /3Tt STfd & WG fdd 99 &1 RIGId

3. Dominance theory / U@ fIgid

4. None of these /38 I H1g g

Correct Answer :-

« Hardy-Weinberg principle / g1l 39 fgid

12) The term hormone is sometimes extended to include chemicals produced by cells that

affect the same cell is:/®H- FH « g« BB gRT IS THATAA] ) e B & ford v foran
ST @ i U &) D111 a1 I & THH HIRAST 6 UHIfIT $31 &, 59 S &) $ed o-

1. IBC Signal / IBC /@

2. Autocrine signalling /3icishrs Rp=feT
3. Electrical signals /3dfacshd Re™
4. Paracrine signalling /ORTshTg RmfeqT

Correct Answer :-

« Autocrine signalling /3ifcthrg e



13) Disease caused due to the endocrine disorder in which the adrenal glands do not produce

enough steroid hormones-/ag I o 3id WTdl fadR & HRUT Wmmmmqﬁ
Hl -

1. Hypothyroidism /SEAHERTASSH
2. Goiter /ﬁf‘EIT

3. Addison's disease /Uf&H AT

4. Diabetes /Irﬂﬁ'e'

Correct Answer :-

« Addison's disease /U ST T

14) Which muscles help in rhythmic contraction and relaxation of the heart?/ﬂ?ﬁﬁﬁﬁ’f?ﬂ'ﬂ%
TS Apa- Ud fagmm & ggradr s 82

1. Cardiac Muscles /g&de UM

2. Smooth Muscles /®Iad U=l / 3RRad O=f
3. Skeletal Muscles /Ufes® U=ft /dreprer Uit
4. Striated muscles / YRIGR U=R

Correct Answer :-

. Cardiac Muscles /gedd URft

15) Which micro organism helps in the production of citric acid?/aﬁ?Wﬁ&ﬂiﬁHmma?
IUTE § WS g1 82

1. E. Coli /SIS

2. Lactobacillus /QaSRIad

3. Clostridium botulinum /FIREITSTH Agfemd
4. Aspergillus niger /TIIRSEN MR

Correct Answer :-

« Aspergillus niger /TERISY TR

16) Inactive form of an enzyme is-/ W&1Uq (TI13H) ®! FAfSpy srawm -

1. Isomerase /3THHRSI
2. Ligases YIRS
3. Zymogens ISIBEISES]
4. Lyases VIR

Correct Answer :-

« Zymogens ISIPEISES]

;:I%%n apiculture unfertilized egg produce: /AYATEITA (ThHeR) | sifrafud 3vs frasd grT e ma



1. Queen/IM gRT

2. Drone/@?@m

3. Worker bees /®Tidd! Afeadl gRT
4. None of these /378 ¥ ®IS g

Correct Answer :-

« Drone/S$H gRI

18) Which blood group individual does not contain any antibodies against either A or B

antigen?/dg H1 IT 7 9HE 8, Forad ufasi A a1 B & fRaere #1¥ varsie g} urdt et 82
1.0

2.B

3. AB

4. A

Correct Answer :-

19) In human which is the neural control center for all endocrine systems./dJsl ¥ 3id: Tt
wure & R et Frdaor F= dar 2-

1. Adrenal glands /3if&igads UfY
2. Pineal gland /difaa 4fY

3. Hypothalamus VR IRIE]
4. Thyroid gland /H@"&Z@’ﬁﬁ

Correct Answer :-

« Hypothalamus VEECIDNER]

20) In human sperm which part contains the genetic material-/AT-d Y[HTY & fd U & Srgaifke
uerf uTaT ST 3-

1. Acrosome /U

2. Pronucleus /m
3. Centrioles /3fg3fd

4. Flagellum /®RIYehT

Correct Answer :-

« Pronucleus /d_gfeaasd

21) Sleeping sickness is a dangerous disease within the people of Africa and is caused by

which protozoa- /3BT & @7 & g1 arell g & A ver a1 A7 B, ug g MiSsen & $RUI g 8-
1. Entamoeba histolytica /e 3fHiar fgweifereamt
2. Giardia lamblia /foranf&ar dwaferan



3. Trypanosoma /feO=AT
4. Plasmodium /GITsHITSTH

Correct Answer :-

« Trypanosoma /feU=ramn

22) Fat digestion is also promoted by a enzyme from the pancreas known as:/ ST H 99T Ut
P TTAT ¢4 9T USITSH (YPH1va) B BT STdl 8-

1. Pancreatic Lipase /GPHT&TPJ?I'@GT
2. Nucleases /Wm

3. Proteases /UIfcTog

4. Amylases /TGS

Correct Answer :-

« Pancreatic Lipase /3[T=g @30S

23) The two cells present in the retina allow conscious light perception and vision including

color- /3T # IR &I FHIRTHTT S BTN TGV B TUT TN B UgaT | Tgd1d gl 8-
1. Rod and cone /378 U4 T

2. Dendritic and Microglial /3-g\fee Td AEHIRIA

3. Axon and neuron /UaSH Td =R

4. None of these /38 ¥ ®Is T8l

Correct Answer :-
« Rod and cone /(8 Td TF

24) The process of digestion of fats by bile is known as -/fU® & gRT 991 T U 811 &1 ufspar

STl -

1. Ammonification /Gﬂiﬁﬁ%ﬂ?
2. Emulsification /SARNHHRA
3. Nitrification /ATgIhaHRMA

4. Esterification /H@mﬂ?

Correct Answer :-

« Emulsification /gHR fhh e

25) Excretion of ammonia and ammonium ions-/ 3T 3R M M=} & 919 / T & $gd
z-

1. Ammonification /3fHIfAROT
2. Ammniosis /Qﬂ'"ﬁ&ﬁm

3. Ammonotelism /Qﬂ:h:ﬁ%ﬁl\_rﬂ[
4. Amniotic /Qﬁm



Correct Answer :-

« Ammonotelism /anﬂ?h%l?«rm



